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Q.No: 1 On whose life is the book “Karmayoddha” written?
2620184

‘HHAIGr Y frged SiigT W forar mar 82

Narendra Modi

A
T A
Rahul Gandhi
B
g midh
Draupadi Murmu
C
rodt 7,
Subhash Chandra Bose
D

FUTY 9% T
Correct Ans : A

Subject : Gen. Knowledge graduate

Q.No: 2 By what year is SDG6 focused on ensuring that everyone has access to clean, reliable water and adequate water
2620244 gypitation?

SDG6 frd I % 78 YA & R Hied 8 6 Tt F 1 W, W Jd R v Jd Wwdl dd Ugd o2

2025
A

2025
B 2030
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2030

2035
C

2035

2040
D

2040

Correct Ans : B

Subject : Gen. Knowledge graduate

Q.No: 3 Which country approved grant assistance of USD 265 crore for Andaman and Nicobar Islands development projects
2620245 20217

forg 3w 7 2021 F 3fsAM 3R FHER i T fAwr uRaieFIs & N 265 HRIS TS TR B e g™l BT Hodt
4

South Korea

A
Sfaror i
Russia
B
=9
Japan
C
KILIE]
Singapore
D
R

Correct Ans : C

Subject : Gen. Knowledge graduate

Q.No: 4 What is the rank of India in Climate Change Performance Index 2023?
2620252

STAarg URad Ue=H Jadic 2023 B YR &I X6 1 82

Gth
A

6di
B Fth

https://mppeb.cbexams.com/MPPEB_Cand_Objections/Ecrt2023febgrive_adminpanel/Final_Model_Answer.aspx 2/60



4/17/23, 1:25 AM https://mppeb.cbexams.com/MPPEB_Cand_Objections/Ecrt2023febgrive_adminpanel/Final_Model_Answer.aspx

74i
gth

C
8ai
gth

D
ogai

Correct Ans : C

Subject : Gen. Knowledge graduate

Q.No: 5  Who has got the title of Mrs. World 2022?

2620272
e 9 2022 &1 Raame frd fiyar g2
Sargam Kaushal
A
O I
Caroline Jurie
B
ERICIERS U
Shaylyn Ford
C
ARRE WIS
Jennifer Le
D

SfeR @

Correct Ans : A

Subject : Gen. Knowledge graduate

Q.No: 6 Which state of India has been selected by the World Health Organization for the World No Tobacco Day (WNTD)
2620278 award-2022?

fay darg A9y fGaw (WNTD) REBR -2022 F T fay areg e gRT YR & 59 g &1 99+ fvar mar 82

Uttar Pradesh

IR Yo

B Karnataka
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Fles
Jharkhand
C
FRES
Gujarat
D
ToRTd

Correct Ans : C

Subject : Gen. Knowledge graduate

Q.No: 7 Which of the following committee is headed by Madhavi Puri Buch in 2022?
2620322

2022 ¥ Fgfafea & 9 forg Ififa &t sregerar mydt gt g9 A @12

Market Data Advisory Committee (MDAC) by SEBI

A
At gRT ISR o7 HaTeHR ARAfY (TSR
Committee by All India Council for Technical Education (AICTE)
B
e R apfe Rian aRwg (TmAES) g afdfa
Company Law Committee
C
U BT affa
Committee on Business Responsibility Reporting
D

IS Suvenda Ruifér w afffa

Correct Ans : A

Subject : Gen. Knowledge graduate

Q.No: 8 Who has headed the committee related to the draft National Education Policy?
2620325

T e A T S o W @) sreerr e 3 22

A C Shah
A
Tt wme
B Chandra Shekhar

https://mppeb.cbexams.com/MPPEB_Cand_Objections/Ecrt2023febgrive_adminpanel/Final_Model_Answer.aspx 4/60



4/17/23, 1:25 AM https://mppeb.cbexams.com/MPPEB_Cand_Objections/Ecrt2023febgrive_adminpanel/Final_Model_Answer.aspx
EERNGE

K Kasturirangan

& R

Hanumant Rao

gJHd ¥g
Correct Ans : C

Subject : Gen. Knowledge graduate

Q.No: 9  Which of the following reforms is associated with the Bhurelal Committee?
2620326

frofifad & 3 o 1 guR JRara afife 3 dEita g2

To recommend reforms for cricket in India

A
YR # fibdbre & forg YUY ot Rrerfva s & forg
Increase in Motor Vehicle Tax
B
Hiex a8 X | gfs
Pension Scheme for Unorganized Sector
C
e & & frg 93 Ao
Banking Reforms
D

e guR
Correct Ans : B

Subject : Gen. Knowledge graduate

Q.No: 10 Which of the following was the capital of the Paramaras?
2621895

Fofifed & § oH-0 waRr! &f Jeur o

Nagapattinam

BILEIERC

Dhar
B
4R
C Barmer
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TEWR
Jodhpur
SiegR

Correct Ans : B

Subject : Gen. Knowledge graduate

Q.No: 11 According to whom the Sultan was God’s shadow on earth?
2621920

fPTd SUR Yo Jeat TR S4R BT 1T T2

Tughril Khan
A

TG &=

Qutub-ud-din Aibak
B

DTG WP

Balban
C

CECEE

Jauna Khan
D

EIGIECIC]

Correct Ans : C

Subject : Gen. Knowledge graduate

Q.No: 12 Who among the following is the author of Padmavat?

2621921
frafafed & ¥ $F yaad & dad 82
Malik Muhammad Jayasi
A
Tfere gewg Smat
Jauna Khan
B
ST @
C Tughril Khan
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UG RGIE

Minhas-ham-Siraz

frer-gu-RrTe
Correct Ans : A

Subject : Gen. Knowledge graduate

Q.No: 13 Who did Marathas fought against in the Third Battle of Panipat?
2621968

grTd @ d deTE J w161 A feud faars e gl e
Ahmad Shah Abdali

A
SEHE TME rgTell
Nadir Shah
B
BUCTRU
Sher Shah Suri
C
R = g
British
D
fafemr

Correct Ans : A

Subject : Gen. Knowledge graduate

Q.No: 14 Which of the following reports is not issued by the World Bank?
2622122

Frafefed & @ i @ Ruid fay de gR1 SIRT 781 1 St 82

World development report

A

fay faera R

International Debt Statistics
B

g BT wirSrast
C Ease of doing business report
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31 3T g3 faemg fRud

World Economic Outlook

fay enfie smseqgs
Correct Ans : D

Subject : Gen. Knowledge graduate

Q.No: 15 What is a person called who invests in high risk companies, usually those companies with no revenue or profit?
2622126

I8 Ufdd T BT § Sl I SQH dell Huf-ar § % Hral 8, IR W T Hufar fSmeT $ig Iea a1 oy el 8iaT 82

Bull investor

A
g fFawe
Angel investor
B
T frawre
Strategic investor
C
feuehta e
God investor
D

Jopfetre srfegawut

Correct Ans : B

Subject : Gen. Knowledge graduate

Q.No: 16 What is the meaning of GNP?
2622236

GNP &7 31ef &1 82

Gross National Product

A
[he AP IATG
Global National Product
B
3y TPt ST
Gross National Production
C
HHd P ST
D Gain National Production
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AFH IaTE U

Correct Ans : A

Subject : Gen. Knowledge graduate

Q.No: 17 Who is the head of Goods and Service Tax (GST) Council?
2622241

TSy US IfdY 2o (GST) uRwe & Yga $HH 82

Finance minister

A

faw Wt

Prime minister
B

U HA

Finance Secretary
C

faw wfea

Head of Niti Aayog
D

Hifa sma & vy

Correct Ans : A

Subject : Gen. Knowledge graduate

Q.No: 18 In which article the Election Commission of India is mentioned in the constitution?
2622454

YR TfIUH & 59 orfwse B YR & gA1d 3R $T I 82

Article 328
A

TG 328

Article 324
B

TG 324

Article 369
C

3ITDG 369
D Article 311
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3¢ 311

Correct Ans : B

Subject : Gen. Knowledge graduate

Q.No: 19 Prohibition on the use of intoxicating drinks and substances is
2622481

T2he 09 IR Uerdf F W R ufdEy  ®

Under Article 27 the individual has a fundamental right against the State

A
ATE 27 F dgd Afed B I & favs Aifers iR wra 31
Article 27 is a fundamental duty of a citizen
B
ATV 27 TP AN FT Aiferd Hdaa @
Under Article 17 the individual has a fundamental right against the State
C
TG 17 F dgd Afed &1 359 F e Aifere sifirer wra 21
One of the guidelines contained in Article 47
D

TG 47 A fifea fezmfcg=n # 4 &
Correct Ans : D

Subject : Gen. Knowledge graduate

Q.No: 20 How long may the Lok Sabha question period last?
2622542

ANHGHT UY DI fbd THY dd Id Il 82

2 hours
A

29¢

1 hour
B

1 9e1

1.5 hours
C

1.5 ¥¢
D 3 hours
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3 4e
Correct Ans : B

Subject : Gen. Knowledge graduate

Q.No: 21 It is more convenient to wash clothes in hot water because
2629739

FUS! B T U H O o FaueHes gl § Hiffe

The surface tension of hot water is more

A
T4 St BT 4y arE it gt &
Hot water has lower surface tension
B
T urft BT gy a9 B g 2
There is less soap used
C
g T HH gl § THATT
There is no surface tension
D

I3 Y8 19 T8 @
Correct Ans : B

Subject : Gen. Science graduate

Q.No: 22 Which of the following is not one of the kingdoms classified by R.H. Whittaker?
2632002

frafafea & ¥ ®19 a1 oRud feear grt aifferd ovd & § e 6T 82

Animalia
A

v

Plantae
B

et

Monera
C

HRT

Mammalia
D

LSRR TS|

Correct Ans : D
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Subject : Gen. Science graduate

Q.No: 23 Which of the following is the unit of inheritance?

2632033
9 o S dIHH 3T 3B 2
Chromosome
A
JUREA
Chromatin
B
Prafe
Gene
C
Cik
Cell
D
HIRIBT

Correct Ans : C

Subject : Gen. Science graduate

Q.No: 24 By which technique one can establish the paternity of a child?
2632036

g dp-ie T 5= & g &1 wiIfd faar S g g2

Karyotyping
A

Hfarersit

Blood transfusion
B

o ST

DNA fingerprinting
(o

St fRflifer

ELISA
D

gferm

Correct Ans : C

Subject : Gen. Science graduate
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Q.No: 25 Which of the following causes carcinoma?
2632088

fafafad & ¥ S a1 SR BT SR 7T 872

Bone Marrow

A
SRy Tt
Pigment containing cells
B
quie gaa SIRMBY
Epithelial cells
C
SUHAT IS
Memory cells
D

AR A

Correct Ans : C

Subject : Gen. Science graduate

Q.No: 26  Which of the following is not a mineral acid?

2633538
frofafed & § o o1 @ o 76t 872
Citric acid
A
e sra
Nitric acid
B
e s
Hydrochloric acid
C
HESIESIE R
Sulphuric acid
D

TEHR® AT
Correct Ans : A

Subject : Gen. Science graduate
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Q.No: 27 Identify the basic salt from the following.

2633540
frafafed & aRe daur $t uga il
Sodium carbonate
A
Hifsaw sEHe
Sodium Nitrate
B
Hifsgw Ag¢e
Ammonium Chloride
C
SR FIRES
Potassium Chloride
D

TRy wREs

Correct Ans : A

Subject : Gen. Science graduate

Q.No: 28 In a crystal, molecules are bound together by

2633588
T foped #, o] U Wiy I §Y B Bl
Hydrogen bond
A
TIEGIo de
Dipole-dipole attraction
B
fasdia-feydia sy
Electrostatic attraction
C
AT R eH STHHur
Van der Waal’s attraction
D

91 I 9T BT THYT

Correct Ans : D

Subject : Gen. Science graduate

Q.No: 29 Which of the following has the highest electron affinity for electrons?
2633590
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fFraffad & @ foge! sdael & Y Iad sydr 82

Li+
A
Li+
Na+
B
Na+
oO-
C
o-
F-
D
F-

Correct Ans : D

Subject : Gen. Science graduate

Q.No: 30 During photosynthesis, the oxygen in glucose is from
2639486

T STV B SR, Wbl § Sffedier F giel 8-

From nitrogen

A
EgIo |
From carbon dioxide
B
HTE TS ATHES |
From sulfur
C
Hepx 9
By water
D
SEECH

Correct Ans : B

Subject : Gen. Science graduate

Q.No: 31 Which of the following things does the Geneva Protocol emphasize not to use in war?
2639504
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SHaT Hidieia Fafifad & ¥ fog e &1 gg & STENT 9 H33 W §R a1 22

Using deadly weapons

A
UTae gERT & TRt |
Using chemical and biological weapons
B
e TaH Wfe ARt & war @
Using edged weapons
C
YR gR RART & TR 4
To promote conservation
D

TR&UT P Tl ST
Correct Ans : B

Subject : Gen. Science graduate

Q.No: 32 Which of the following is a good illustration of a man-made ecosystem?
2639540

9 7 § o9 79 [Aftfa uifufas 3 &1 e 3T IR’ 872

Ocean
A

B3IRIES

Agricultural land
B

P yf

Trees & plants
C

Is, Ui

Pond
D

grER

Correct Ans : B

Subject : Gen. Science graduate

Q.No: 33 India has been divided into how many biogeographical zones?
2639557

HRA &) fbam a1 SUnnfeerd SiF & faved far mar 82

A 10
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10

12

12

14

14

Correct Ans : A

Subject : Gen. Science graduate

Q.No: 34 Which is the most or abundant material of the middle lamella?
2639787

Heg AT &1 Ty 31 1 TR yerd B @ g2

Lignin
A
fafm
Cellulose
B
SR CIE]
Pectin
C
AfFes
Hemicellulose
D

HELGEIE]

Correct Ans : C

Subject : Gen. Science graduate

Q.No: 35 What is the name of the particles that are located in the cristae and the inner part of the mitochondrial
2639788 membrane?

31 HUN BT 1 1 § o7 kel @R Hgeiaifead et & ofiast um & fRua &2

A Vesicles
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CIGEa

Oxysomes

SRR

Grana

PEl
Thylakoid

YIATHISS

Correct Ans : B

Subject : Gen. Science graduate

Q.No: 36 ghiva ranks in the class 16% from the top and 45% from the bottom. Find the total number of
2613915 }
students in class.

FeT B T BT M FW I 1691 3R A1 I 4531 31 Fel & S 3 FA GBI I Piord?

60
A

60

69
B

69

55
C

55

66
D

66

Correct Ans : A

Subject : Gen. Reasoning graduate

Q.No: 37 Directions: Read the following information carefully and answer the given question.
2614035

Five girls participated in a race competition. Suhana came ahead of Priya in this race but remained behind
Lakshmi. Amrita is ahead of Khushboo but behind Priya.
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Who among the following won the race competition?

e Fufafad SHeRt & eFyde ue SR U T8 Uy &1 IR i)

are gfaifirar & uig asfeal 3 umT formn 59 39 o ger, fr 9 omt fea 718 dfe aeht 3 b 38 121 smar, QRe ¥ ol §
AT forar ¥ i 21

fFrafaRed & 9 feaa <rs ufaaifa siidr?

Amrita

S
Khushboo

Laxmi

et

Priya

e

Correct Ans : C

Subject : Gen. Reasoning graduate

Q.No: 38 Directions: Read the following information carefully and answer the given question.
2614044

In the annual school examination, Ram scored more marks than Leela but not more than Sheela. Devika scored
less than Sheela but Sheela did not score as much as Manisha.

Who among the following got the highest marks?

= Fufafad SHeRt & eFyde ue SR T T8 Uy &1 IR il

s Wpa udten ®, W A oien § $4fiw ik U fpu dfer e ¥ sifde 781 Sfawer 7 <fen ¥ &4 s ura fpu dfer <ftem 3
TS & forae 3i =1eT U fopul

fofafea 7 3 fea gaffde s urd feu?

A Devika
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CACCal

Ram

N

Manisha

LRl

Sheela

often

Correct Ans : C

Subject : Gen. Reasoning graduate

Q.No: 39 Select the option that is related to the third term in the same way as the second term is related to the first term.
2614187

LPWF : MRZ] :: BFTS : ?

Y fyded &1 997 X o R UG F I TSR Yafid 8 S gORT UG, U8 Ug ¥ efid g

LPWF : MRZ] :: BFTS : ?

CHWW
A

CHWW

DHVV
B

DHVV

QPON
C

QPON

RSUV
D

RSUV

Correct Ans : A

Subject : Gen. Reasoning graduate

Q.No: 40 Select the option that is related to the third term in the same way as the second term is related to the first term.
2614191
STATION : UWEYOVV :: RAILWAY : ?
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39 fawed 1 997 HX Sl IR Ug J S UHR Fafd § O gERT Ug, Ugd Ue ¥ Tafdd B

STATION : UWEYOVV :: RAILWAY : ?

TDMQCHG
A

TDMQCHG

HOZLLHL
B

HOZLLHL

TDMCQHG
C

TDMCQHG

NJKOGKU
D

NJKOGKU

Correct Ans : A

Subject : Gen. Reasoning graduate

Q.No: 41 What is the code for WAR, if ZOO is classified as 2 and TAN is coded as 8?
2614358

WAR &1 ®I8 &1 § If¢ 200 &1 2 & w0 | aifferd fvar a1 § 3R TAN &1 8 & ®u & Sifed fovar mar g2

6
A

6

5
B

5

4
C

4

8
D

8

Correct Ans : A

Subject : Gen. Reasoning graduate
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Q.No: 42
2614359
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(@ = either hour hand or minute hand is at 2

+= either hour hand or minute hand is at 3

7 = either hour hand or minute hand is at 3

< = either hour hand or minute hand is at 4

== gither hour hand or minute hand is at 12

- = gither hour hand or minute hand is at 8

Note: If two svmbols are entered, the first one will automatically be interpreted as an hour hand and
the second as a minute hand.

And all imes are in PM, for example, = 4:40 PM.

Agra to Lucknow train D departs at (@ and train F departs from Lucknow for Agra at ([@. Both trains
operate at a consistent pace of 10 m per second. The speed difference between trains D and F is one-
third. Given that the distance between Agra and Lucknow is 138 kilometers, what time will the two
trains finally meet?

@@ AT AT AN O M S T AACF HE 2 W E

+ AOEE AT AT OC T Hs AT A AT {5 S W

TAOTE AT Hc M A AT Adc T As 3 W h

<F AR A ORI FE T AACHF ES4WE

AN AT AN O H H M AACH q5 12 E

~HFI T AR A AACH E S TR

ATe: I &1 Weltel 1 got ol STl £, A Tl arel &l FaaTiold §9 & Ueh 6 & g1% o 9 # 31T gi
&l HaAC 5T & &9 & HHSAT S|

3R FT TAT AWESA # £, 30T & W, = 4:40 3AHEA |

TN & AGAF & 60 &7 D @ T WA Flah & 3 1 F @5 § 309N & 60 @ 9 9= ldr
#1311 2oF 10 Fre oiey Yk o TR ATT F o & | 31 D AN F & dfrer a1fey oy 37 v o 2
TE ST U & 3R ST s o i 7 gdr 138 fareieiet 8, At & T o @ e

+?

+?

<@

+ >

s

L

Correct Ans : B

Subject : Gen. Reasoning graduate

Q.No: 43
2614376

Answer the questions that follow after carefully reading the information provided.
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Using a specific code,

The code for "filter water found everywhere" is "bhu man juk lop."

The code for "discovered missing items everywhere" is "gan bhu nut juk."
The code for "apply filter search items" is "vax der man nut."

The code for "found water desert search" is "but juk der lop."

e

How does the given language code the word "apply"?

3 TS TFRI ® e | UeH & aIc 13T MU U & IW S

T AR BIs &1 IUTIT B,

"filter water found everywhere" &I P18 "bhu man juk lop" H
"discovered missing items everywhere" & i@ ®1S § "gan bhu nut juk"
"apply filter search items" % W ®¥s "vax der man nut” |

"found water desert search" T ®Is "but juk der lop" H

2 TS YW Teg "apply” BT HY B BT 87

der
A

der

man
B

man

vax
C

vax

nut
D

nut

Correct Ans : C

Subject : Gen. Reasoning graduate

Q.No: 44 Read the given pattern carefully and select the number which can replace the question mark (?) in it.

2614476
S0OS
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fau 7 O &) e q ufeu SR I W F1 9EF P S ITH uy fug B ufawnfid wR godt §1

EG S

125570
A

125570

13989
B

13989

687869
C

687869

107450
D

107450

Correct Ans : D

Subject : Gen. Reasoning graduate

Q.No: 45 Choose one of the following options to fill in the missing image/jpg in the following question.

o/|%\
Ogt

fafaRed Uy & @ Sefd &1 R & oy Fafafed fGwddl & 9 1 &1 997 |

e
A
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Correct Ans : D

Subject : Gen. Reasoning graduate

Q.No: 46 Find out the wrong term from the given alphabet series.
2614608
E,FH KOS, 2z

vy}
A M
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K

S
c s

None of the given options
D

fau e e § @ $1E T8
Correct Ans : C

Subject : Gen. Reasoning graduate

Q.No: 47 If RED is coded as 19, then how WED would be coded?
2628674

If& RED &I 19 & w0 ¥ Ffed fovar a1 8, & WED &1 359 Fe {3 smemm?

21
A

21

28
B

28

24
C

24

22
D

22

Correct Ans : C

Subject : Gen. Reasoning graduate

Q.No: 48 If MUNREB is written as 628146 and IESRES as 345145, how will SERBER be written?
2628685

gf& MUNREB &I 628146 forad § iR IESRES &1 345145 ferad 8, df SERBER &1 & forar Siwm?

541146
A

541146

451146
B

451146
C 541641
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541641

541164

541164

Correct Ans : C

Subject : Gen. Reasoning graduate

Q.No: 49 If SUBHASH is written as 3102432 and RAKESH as 845632, how will SURBHE be written?
2628686

Tfe SUBHASH & 3102432 forad @ 3R RAKESH &1 845632 for@d 8, 9 SURBHE &) ¥ forar Smarm?

381026
A

381026

318026
B

318026

380261
C

380261

318027
D

318027

Correct Ans : B

Subject : Gen. Reasoning graduate

Q.No: 50 In the following question, select the related word from the given alternatives.
2628820
Jaipur : Rajasthan ::

fAfeiRaT o # U U faebedl # ¥ waiid wes &1 MUl

SIYR @ SR =

Prayagraj : Uttar-Pradesh

TANRTS : SIS

Amritsar : Punjab

AR : U
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Tura : Meghalaya

0: AT
Gangtok : Sikkim

Tei® : Rafewa

Correct Ans : D

Subject : Gen. Reasoning graduate

Q.No: 51 Find the odd one out from the given alternatives.

2628852

feu U fawed & ¥ fid ug &1 |

Blind
A

3fur

Sinus
B

qIgq

Deaf
C

EER

Dumb
D

Rl

Correct Ans : B

Subject : Gen. Reasoning graduate

Q.No: 52 Find the odd one out from the given alternatives.

2628864
fau ¢ faspeul # ¥ fawm F1d &3
Horse
A
arst
Elephant
B
g1t
C Octopus
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e Iod

Camel

&

Correct Ans : B

Subject : Gen. Reasoning graduate

Q.No: 53 Which one will replace the question mark (?)?

2628985
:\’5/6639137
65 181 ?
9 o 3 & uy fag (?) & ufawafg H¥m?
2\\\\;;///6 6 8 o9 2 8 =~
65 181 ?
110
A
110
108
B
108
117
C
117
78
D
78

Correct Ans : C

Subject : Gen. Reasoning graduate
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Q.No: 54 Read the following information carefully and then answer the questions given below it.
2629241

Five monkeys A, B, C, D and E are sitting on a branch of a tree.

I. Ais sitting next to B.

II. C is sitting next to D.

III. D is not sitting with E.

IV. E is on the left end of the branch.

V. C is on second position from right.

VI. A is on the right side of B and B is on the right side of E.

VII. A and C are sitting together.

At what position is A sitting?

9 TR &1 TFYdS e R fau T U BT I S|

Ui SR A, B, C, D, 3R E, U ! T IR W 93 Bl
I. A, B ¥ 3T 931 2|

II. C, D & 3 9371 1

I11. D, E ¥ 91 -igf ¥o1 B

IV. E, T & ¢ 3R R 937 g

V. C, T § g VM W g

VI. A, B & arf 3R § 3R B, E & arff SR &1

VIL A 3R C 91 H 93 &

A {58 ®F R da1 82

Between B and C

A
B3R C & dg
Between D and C
B
D3R CcF &
Between E and D
C
E 3R D& &g
Between C and F
D

CIRFF &g

Correct Ans : A
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Subject : Gen. Reasoning graduate

3-6'\;%25851 A paper is folded and cut as shown below. How will it appear when unfolded?

e e
(|
|
|
1

o - - - = Sk L =2 - -
i I i i 0 [
] ] I L] ] i
] ] ] L} ] I
: (I i ] i

i i o e i R P, —l
| 1 I

0 0

1 "

T Lo

=&
SE
==
S=
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(R
0=

Si=
Si=

S=
Si=

Correct Ans : B

Subject : Gen. Reasoning graduate

Q.No: 56 If March 8 of a year is Saturday, then how many Saturdays will fall on odd dates between March 1 and April 25.
2614233

gfe af &1 8 A WFAAR B, a1 A 3R 25 3Wid & o9 faww fafdal w fraw wfHar use

4
A

4

6
B

6

3
C

3

5
D

5

Correct Ans : A

Subject : Gen. Aptitude graduate

Q.No: 57 India's Independence Day in 1970 was on Saturday. 'K' was born on August 5, 1970. If 'L' is 5 days older than 'K',
2614261 then on which day was 'L' born?
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1970 B YR BT WAl f3aq IFAR &I UT1 'K BT S 5 AR 1970 HI g3 AT IS 'L, 'K' ¥ 5 RA TSI, O 'L &1 o frg
fa= gam ure

Monday

JHaR

Tuesday

Friday

JPAR
Saturday

TfHaR

Correct Ans : C

Subject : Gen. Aptitude graduate

.No: 58 . 5 .
2515979 The first number is g‘i the sum of the other two numbers, and the average of all three numbers is

26.4. What 1s the first number?

E@ﬁﬁmmaﬁ@nﬁ%ﬁwwzi T it w5 aftad 26.4 2 wee Tav T 27

36
A

36

29
B

29

46
C

46

68
D

68

Correct Ans : A

Subject : Gen. Aptitude graduate
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Q.No: 59 A class students received the following number of books: 21,8,28,13,19,34,27,14,37,6.

2616986
Determine the median number of books based on the data given.

s HeT B faaial o Fofafea den § gwad @ 1s: 21,8,28,13,19,34,27,14,37,6
IWI TFGRI & YR R Yeah| &1 AIEDBT WA J1d Piforg|

20
A

20

25
B

25

35
C

35

19
D

19

Correct Ans : A

Subject : Gen. Aptitude graduate

Q.No: 60 A class of 65 students weighs 55.78 kg. When the new boy's weight is included in the class, the mean rises by 700
2616987 g. Determine the weight of the new boy.

65 Bl BI TH Hef BT 3G goH 55.78 [HAUTH §1 F9 T TSP HT a0 &M B e a1 Sram §, o 71ed 700 I 9 Sl
21 9T AP BT oI T BT

95 kg
A
95 o
102 kg
B
102
80 kg
C
80 fur
110 kg
D
110fHa

Correct Ans : B
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Subject : Gen. Aptitude graduate

Q.No: 61 What is the mode of data if its median and mean are 12 and 11 respectively?
2616994

3T &1 Sgad 1 ¢ Il STB! HIfSHT 3R Hed HA: 12 3R 11 §?

14
A

14

16
B

16

12
C

12

11
D

11

Correct Ans : A

Subject : Gen. Aptitude graduate

Q.No: 62 Calculate the mean of the following table:
2616995

fi
12
14
25
g
18

g aiferet & H1em &Y MU B

fi

12
14
25

18
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6.25

4.42

4.42

1.25

1.25

7.85

7.85
Correct Ans : B

Subject : Gen. Aptitude graduate

Q.No: 63 Find the range and the coefficient of the range of the following data:
2617012
Marks = 20-30, 30-40, 40-50, 50-60, 60-70, 70-80, 80-90

No. of Students = 10, 12, 15, 20, 25, 13, 38

frufafad Ser ot Fur iR Tuie &t i 19 S
3% = 20-30, 30-40, 40-50, 50-60, 60-70, 70-80, 80-90

BET @ @I = 10, 12, 15, 20, 25, 13, 38

4.6
A

4.6

2.5
B

2.5

3.5
C

3.5

1.8
D

1.8

Correct Ans : D

Subject : Gen. Aptitude graduate

Q.No: 64 DIRECTIONS: Arrange the following in a logical order.
2618045
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1. Puberty

2. Adulthood
3. Childhood
4. Infancy

5. Senescence

6. Adolescence

= : e o) Uw sriyef o o afa &

5. JGTaRIT
6. fpaRIaRT

2,4,6,3,1,5

2,4,6,3,1,5

4,3,1,6,2,5

4,3,1,6,2,5

4,3,6,2,1,5

, 3
I6I
6

14

14

~
~

<

NN o
Www N
-h;h b
==

~

uaunn h

14

~

Correct Ans : B

Subject : Gen. Aptitude graduate

Q.No: 65 Select the correct alternative to indicate the arrangement of the following words in a logical and meaningful order.

2618095
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1. State

2. Street

3. House Number

4. City

5. Country
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ThTd 3R erefguf ovr A Fafofad wssl @) sgaw & $fd A & e Tet faswen &1 997 a1

1. 39
2. Tl
3. A I
4. TR

5. 39
3,2,4,1,5

3,2,4,1,5

3,4,2,1,5

3,4,2,1,5
2,3,4,5,1

2,3,4,5,1

1,5,4,3,2

1,5,4,3,2
Correct Ans : A

Subject : Gen. Aptitude graduate

Q.No: 66 Select the correct alternative to indicate the arrangement of the following words in a logical and meaningful order.
2618096

1. Execution

2. Planning

3. Thinking

4. Feedback

5. Idea

fFafiied & § oF-91 fided 3 fau Tu wsdl & adbema ok srfguf %H & gxifar g1

1. fparama
2. gioHT
3. foaruRT
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4. yfafean

5. fqar/ggma
3,2,51,4

3,2,51,4

3,5,2,1,4

3,5 2,1,4

2,3,4,51

2,3,451

4,5,2,1,3

4,5,2,1,3
Correct Ans : B

Subject : Gen. Aptitude graduate

Q.No: 67 Which of the following words can be formed using the letters of the given word.
2618157

TRANSLATION

fAAfifad & @ H19-91 Tsg 3T 7T et & 3H&RT BT STANT Hb ST o Yoball 22

TRANSLATION

SLATE

SLATE

STATION

STATION
SALINE

SALINE

SANITATION

SANITATION
Correct Ans : B

Subject : Gen. Aptitude graduate
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Q.No: 68 From the given words, select the word which cannot be formed using the letters of the given word.
2618158

SANCTION

fAafiied fawedl 7 @ a8 Wsg T o fAT 7T Teg & 31&RT BT YART HRob a! ST Sff Yl
SANCTION

STOIC

STOIC

TACOS

TACOS

STONE

STONE

SONIC

SONIC
Correct Ans : C

Subject : Gen. Aptitude graduate

Q.No: 69  Arrange the following words as per their order in the English dictionary. 1. Incompatible
2618261

2. Incomparable

3. Incongruous

4. Inconsistent

TR Treal @1 Srgavll TeaehIx & faT T HH & IIER feRau|
1. Incompatible

2. Incomparable

3. Incongruous

4. Inconsistent

2,1,4,3
A

2,1,4,3
B 3,421
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3,4,2,1
4,2,1,3
C
4,2,1,3
2,1,3,4
D
2,1,3,4

Correct Ans : D

Subject : Gen. Aptitude graduate

Q.No: 70 In a certain code, if:
2625290
(i) Q + R means R is father of Q’s only child.
(ii) Q @ R means R is mother of Q.
(iii) Q + R means Q is R’s sister.
(iv) Q % R means Q is son of R.

T@K+Y%U-=+E

How is K related to U in the given expression?

& iy sis ¥, afe:

(i) Q + R®T 3 B R, Q P SHalcl! T T far 31
(i) Q@ RFT I TR, Q FI W Bl

(i) Q + RFTIF B Q, R B TB7 B

(iv) Q % R &1 3 § Q, R &1 A Bl
T@K+Y%U<E

fu T @ # K, U ¥ 59 goHR Heifid 72

Daughter
A
¢
Mother-in-law
B
s
Daughter-in-law
C
EH
D Mother
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HIdr

Correct Ans : C

Subject : Gen. Aptitude graduate

Q.No: 71

In the question below are given two statements followed by two conclusions humbered I and II. You have to take
2628652 the two given statements to be true even if they seem to be at variance with the commonly known facts and then
decide which of the given conclusions logically follows from the two given statements, disregarding commonly

known facts.

Statements:

All CPU are monitor.

Some UPS are monitor.

Conclusions:

I. Some CPU are UPS.

II. Some UPS are CPU.

12 fau U Uy § S BT 3R IS &1 o I 1 3R 11 faT U g1 3! AU TN &) Sy B G T 8, Y 8 3 gdFd ae

I firm vrelid 81 8 oIk AR qg &% & fou 7 el § @ 1 91 fau 71U FHo=i &1 aifdhes U J SFJERUN Bl €, FITd awf B

g Hd gul

HY:-
Tt 9. d.g,, weR

Fo 3,019, AR g
frep:-

1. %3 4.4, g ¢.w.
II. $2 g, 0l.uw., d.dhg,

Only Conclusion I follows

Faa Frepd 13ER0 BT ?

Only Conclusion II follows

Fad fspd 11 SgERuT FHRaT §

Either Conclusion I or II follows

1 ot frspd 1 a7 11 3gERYT HRar

Neither conclusion I nor II follows

q forsep I 9 IT SFER0T T @

Correct Ans : D
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Subject : Gen. Aptitude graduate

Q.No: 72 In the following question, you are given a figure (X) followed by four alternative figures (a), (b), (c) and (d) such
2637426 that figure (X) is embedded in one of them. Trace out the alternative figure which contains fig. (X) as its part.

fffad U= & U Ue Snpfa (X) < T8 8, FR% a1g IR d&fess i (a), (b), (¢) 3R (d) 39 UHR & it g & 37
A TP MPla T (X) GHIRT 81 39 Jpfcte 3Mpla &1 T 3 Bl (X) 39 3w & w0 § Iffed 21

?
=
£
e
&
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Correct Ans : C

Subject : Gen. Aptitude graduate

Q.No: 73 If side of the square is increased by 5 cm, then its area increases by 175 sq.cm. What is the perimeter of original
2639303 gqyare?

gfe arf &Y Yo A 5 A ) 9 B B, 3R 39S &t 175 o At Y 9fE Sl 1 A anf b1 uRAm e 82

24 cm
A

24 It

48 cm
B

48 9+t

50 cm
C

50 9t

60 cm
D

60 It

Correct Ans : D

Subject : Gen. Aptitude graduate

Q.No: 74 At a simple interest Rs.708 becomes Rs.944 in 4 years. If the rate of interest was increased by 5% by value, then
2639304 5w much will Rs.675 become in 4 years?
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708 TUY YR TS TR 4 a6 & 944 TG §Y A g1 A & &R & T H 5% P IS g8 &, & 675 30 4 aof & a1 &)
ST

Rs.1035

1035 ¥

Rs.1145

1145 ¥q3
Rs.1075

1075 ¥

Rs.1295

1295 ¥qd

Correct Ans : A

Subject : Gen. Aptitude graduate

Q.No: 75 In the figure given below, if line P, Q and R are parallel lines and AB is perpendicular to line R, then find the
2639311 (jfference between angle a and b.

P 5 Aﬁg.
. d
q
i
R <
h}'I’] ]
7o
A
70
B ge

https://mppeb.cbexams.com/MPPEB_Cand_Objections/Ecrt2023febgrive_adminpanel/Final_Model_Answer.aspx 45/60



4/17/23, 1:25 AM https://mppeb.cbexams.com/MPPEB_Cand_Objections/Ecrt2023febgrive_adminpanel/Final_Model_Answer.aspx

go
go
C
go
100
D
100

Correct Ans : B

Subject : Gen. Aptitude graduate

Q.No: 76 What value will come in place of question mark (?) in the following question?
2639312
104% of 200 + 46% of 350 + 64% of 550 - 56% of 650 = ?

frafaled uy o uyare e (?) & ®H W &1 71 SE?

200 T 104% + 350 HT 46% + 550 HT 64% - 650 BT 56% = ?

343
A

343

357
B

357

364
C

364

389
D

389

Correct Ans : B

Subject : Gen. Aptitude graduate

Q.No: 77 In the following questions, correct the equations by interchanging the 2 signs.
2639318

2-16+28=x7T+5=6
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frofeiag uy o, S Udior! &) IRER I5d B JHIGIU BT Tgl B

2-16+28x7+5=6

A
—|-‘_
B
—|—‘_
. X
c
Y
£+
D
+ +

Correct Ans : C

Subject : Gen. Aptitude graduate

Q.No: 78 The heights of Manish and Nitish were in the ratio 5 : 6. After some years Manish's height increased by 20% but it
2639319 55 only 90% as much as Nitish's height at that time, as Nitish's height increased by 20 cm. What is the new
height of Manish?

Ty SR AT A a1 5 : 6 F U H R FS I8 & 91 AN B HAS & 20% P IS g8, AlBA I8 39 I & A dt
SdTE BT Had 90% T, T I $ Sars H 20 It o 3fg g8 R T &t 78 Fars [ g2

168 cm
A

168 I

174 cm
B

174 It

180 cm
C

180 9

186 cm
D

186 I
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: C

Subject : Gen. Aptitude graduate

Q.No: 79
2639335

When the angle of depression from the sun was 30°, thelength of the shadow of the tree
was 643 m. What will be the length of the shadow of the tree when the angle of depression
from the sunis 60°7

STal T2 ¥ HeAeTHeA ehI0T 30° T, cil Ueh GaT dhl ST el olalls 6y/3 Hiex o | ol I &
ITH= HIT 60° BIaN &, T Ja&T T BIAT h olells T g1

Correct Ans : B

Subject : Gen. Aptitude graduate

Q.No: 80
2639336

Find the sum of first 35 odd natural numbers.

Ugd 35 fawH widfas WReasht &1 anT I Sifod |
900

900
1225

1225
1556
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1556

1521

1521

Correct Ans : B

Subject : Gen. Aptitude graduate

Q.No: 81 Find the missing term.
2641159
CSN, HQR, MoV, ?

I UG BT TG DIfoT-
CSN, HQR, MOV, ?
RNY

RNY
RMZ

RMZ

PNX

PNX
SNz

SNz

Correct Ans : B

Subject : Gen. Aptitude graduate

Q.No: 82 = Select the related number from the given alternatives.

2641588 356.45::152: 9

U v faFedl #§ o Hafed I&aT 1 93« |
356 :45::152:7

10
A

10
B 11
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11

12
C

12

15
D

15

Correct Ans : D

Subject : Gen. Aptitude graduate

Q.No: 83 If in a certain code 'WRITER' is coded as '315621' and 'CROSS' is coded as '81744' then how will 'RECITE' be coded
2642157 55 in the same code?

e U FAfYd H1s & 'WRITER' &1 '315621' & T & HIfSd fba1 a1 § 3R 'CROSS' &1 '81744' & =4 H Hifed fovar ma §,
dl 'RECITE' &1 I ®Is | & difsd fpar S

128652
A

128652

128562
B

128562

182652
C

182652

125862
D

125862

Correct Ans : B

Subject : Gen. Aptitude graduate

Q.No: 84 Two statements numbered I and II are given below. You have to decide whether the data provided in the
2642161 gtatements are sufficient to answer the question.

In a certain code language, 'spread many smiles' is coded as 'ul ob ic'. What is the code for the word 'spread'?

I. 'yummy garlic spread' is coded as 'ip ob am'.

IT. 'many small things' is coded as 'eh ad ul'.
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3 HY I 3R 11 19 3T U §| U] I8 d9 =1 8N % By § f3T 7T Se1 9y &1 IR o1 & fore yafe € an et

s fAf¥d ®is U1 H, 'spread many smiles' &1 'ul ob ic' ¥ ¥4 H HIfSd fHaT STa1 B 'spread’ Usg &1 IS 4T 872

1. 'yummy garlic spread’ @1 'ip ob am' & U H Hifsd fbar T g1

IT 'many small things' P! 'eh ad ul' & U | Hifsd fHar S g

Statement I alone is sufficient to answer the question

A
FY I $Id UY $T IW A F R vafw 21
Both the statements together are not sufficient to answer the question
B
T PYT TP 1Y Y BT IR & & ¢ v 81 31
Statement II alone is sufficient to answer the question
C
HY 11 % ST SR 31 & ¢ vafe 2
Both the statements together are necessary to answer the question
D

UY BT IR 34 & U S SY= TS 1Y ATaqP &l
Correct Ans : A

Subject : Gen. Aptitude graduate

Q.No: 85 Study the following information carefully and answer the questions given below:
2642247

A, B, C, D, E, F, G and H are sitting around a square table in such a way that four of them sit at four corners of the
square while four sits in the middle of each of the four sides. All of them are facing the centre. D is 2nd to the left
of C. G is 3rd to the left of D. F is 2nd to the right of G. A which is to the immediate right of H does not sit at the
corner. E is 2nd to the right of A.

Who among the following sits 224 to the right of B?

R STeRY &1 eMyde 3eag= &3 3R F fou 7y uslf & I <

A, B, C, D, E, F G 3R H TP FNMHR qd & TR 3R 39 IRE 96 ¢ [P 378 J IR I & IR ®F R 8¢ 8, Waidp IR TP
IR YT F T A IS AT Fg Y SR quRa 81D, CH T IRATWIBI G, D & 70 F IRIBIF, G b < A TRR,
ASTH ¥ 3% el §, 96 HH W el 361 31 E, A F T3 3R I I3

Fafifed & ¥ B B & < ¥ g8 &I W 331 82
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H
A

H

C
B

A
C

A
D

F

Correct Ans : A

Subject : Gen. Aptitude graduate

22‘10;68363 If the area of a circle is 616 cm?. What is its circumference?

gfe U g &1 &A% 616 YHI § | SHP! UMY &1 g2

65 cm
A

65 It

78 cm
B

78 |#t

88 cm
C

88 ¥t

84 cm
D

84 It

Correct Ans : C

Subject : Gen. Maths graduate

Q.No: 87 The sides of an isosceles triangle are 10 cm, 10 cm and 12 cm. What is the area of triangle?
2616651

% gfgaTg A 3T Yomd 10 I, 10 It &R 12 It 1 By &1 &awd foba &2
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44 cm?
A

44 cm?

48 cm?
B

48 cm?

45 cm?
C

45 cm?

56 cm?
D

56 cm?

Correct Ans : B

Subject : Gen. Maths graduate

Q.No: 88 When lateral surface area of cylinder equal to numerical value of volume of cylinder, then r is:
2616670

S Yo BT U1 gEIT &% d, I & M & WS A & SRIER g, al r g

3
A

3

2
B

2

4
C

4

0
D

0

Correct Ans : B

Subject : Gen. Maths graduate

Q.No: 89

_ 3 _ _ . g A .
2616676 ¥V, = a® and V; = abe . If V} = I then which condition is true:
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V, = a® ATV, = abc, 30X V, = V,, T &I € 91d TET &:

a, b, c forms A.P

A
a, b, c forms A.P
a, b, c forms G.P
B
a, b, c forms G.P
b, a, c forms H.P
C
b, a, c forms H.P
b, a, c forms G.P
D

b, a, c forms G.P
Correct Ans : D

Subject : Gen. Maths graduate

Q.No: 90 The simple interest and compound interest compounded annually on a certain sum of money with a given rate for
2616847 4 period of 2 years are Rs 700 and Rs 756 respectively the sum of money

2 9uf & 3@Efy & fow & T R & Y TH T IR R At T I TR TR0 ATt 3R Ihgfg S HERE 700 $00
3R 756 UV §

2287

2287

2308.5

2308.5

2187.5

2187.5
3658

3658
Correct Ans : C

Subject : Gen. Maths graduate
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Q.No: 91 A certain sum of money amounts to Rs 2000 in 2 years and 2400 in 3 years at some at some rate of compound
2616855 jnterest compounded annually the rate of interest per annum is-

T fAfya i 2 asf & 2000 0 3R 3 af F 2400 IT B AR 7, F& IR TH(S A Bt R W AMS FY F T <ot
B R 7T 8?

25%

25%

18%

18%

20%

20%

36%

36%
Correct Ans : B

Subject : Gen. Maths graduate

Q.No: 92 . ) L1101, 1
2617054 Find the value of given expression stitot o
. 1,1, 1,1
few 1T o= [+ |+ + o F AW AE ST
e
3
A
-
3
2
6
B
2
6
c =
6
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[=

1
3
Correct Ans : C

Subject : Gen. Maths graduate

Q.No: 93 30 is the result of one fifth of four - fifth of 150 percent of a number x. Determine the 80% of the very same
2617553 number.

30 TWAT x F 150 U P Uh-UId BT IR-UTEd HIT BT URUMH g1 I TWAT BT 80% FAufid B3

100
A

100

75
B

75

125
C

125

150
D

150

Correct Ans : A

Subject : Gen. Maths graduate

Q.No: 94 A stadium's seating capacity is raised by 45 percent. The ticket price has also been raised by 20%. The increase in
2617559 revenue collection after that will be:

T RISTA P 961 BT &HdT 45 UfA=d 91 <1 T3 g1 fepe &1 iva & off 20 B &t geias) &1 T g1

IGb §1G IAoRd U8 H 1 gfg g
70%

A
70%

B 60%
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60%

65%
C

65%

74%
D

74%

Correct Ans : D

Subject : Gen. Maths graduate

Q.No: 95 A motor boat can travel at a speed of 10 km per hour in still water, it goes 36 km downstream in the river and
2617625 (otyrns the same. It took him a total of 20 hours. What is the speed of river flow?

T Hiex dic @ g § 10 fFardier ufd ger &t 1fd I 9a Gl 8, 98 74 H 36 ey sryar Ie ok 98 § A o | 3™
Fd 20 U @I Al & YATg B A 7T 82

9 km/h
A

9 fosit/ 4

8 km/h
B

8 foei/d

5 km/h
C

5 faedft/ g

3 km/h
D

3 fossdft/d

Correct Ans : B

Subject : Gen. Maths graduate

Q.No: 96 A boat covers a distance of 12 km upstream and 18 km downstream in 3 hours, while the same boat
2617643 . . .
covers a distance of 32 km upstream and 24 km downstream in 3% hours. What is the speed of the

current?

ek ATl TRT & Gfcieber 12 et AR T & sefebet 18 ToralTehT g {1 3 e 31 T ohcll &, STaifeh agr =i
TR & cigper 32 TafT 3R eIRT & sfegepet 24 Teball ol U1 52 &1 31 7 el €1 SIRT T aTfer feetett
B &7
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2km/h
A
2 foedi g
3.5 km/h
B
3.5 foddi/g
4.55 km/h
C
4.55 &t g
3.75 km/h
D
3.75 foedi 4

Correct Ans : D

Subject : Gen. Maths graduate

26'107:79575 What is the simple value of [l +i] x [l+ ﬁ] - [l+ ﬁ] is
[1+ 2] x[1+ 2] - [1+ 2] &7 wer At amgrem
2
&
A
2
&
10
B
10
3
25
C
2
25
16
25
D
16
25

Correct Ans : C
Subject : Gen. Maths graduate
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Q.No: 98 ESUJ x b
— = — then the value of x?
2617761 x 94:

s0l

X

E'ii E A x FTA FTE?

125
A

125

250
B

250

150
C

150

180
D

180

Correct Ans : C

Subject : Gen. Maths graduate

Q.No: 99 18 men can dig a road 12 meters long in 20 days. How long of a road can 12 men dig in 15 days?
2617875

18 3meHt 12 Hiex el I HI 20 feT # Tie Iohd &1 12 et 15 o7 & fHa-) et Jso Tle Tahd 72

26
A

26

6
B

6

36
C

36

8
D

8

Correct Ans : B
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Subject : Gen. Maths graduate

Q.No: 100 A and B can finish a task in 4 days when working together. If A can finish the identical task by themselves in
2617881 1) days. How many days will B need to finish the task by himself?

A 3R B T 1Y FT I §U TH 1 B 4 foAl B O R Wb ¢ A A T &1 &1 W 12 G & -1 % Il B
B W &1 &I foran et & g1 e

10

10

14

14

Correct Ans : B

Subject : Gen. Maths graduate
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